Pre-Calculus Name:
Practice Problems

Station 1: Inverses and Functions
Let f(x) = 9 - x, g(x) = x* + x, and h(x) = x - 2. Compute the following:

10. g(f(3)) 11, f(g(4)) 12. h(f(-6))

£(5) = 9-3- 6 ) §yy-20 L0)= 906715

9()- (ro=)  Kaozaaez(y O 5213)

13. f(h(-3)) 14. h(g(11)) 15. g(h(-9))
h(3)= 3-2=5 96}): 4132 hid)= ’65'2;“”
{(-5) = C?'""(*%’)’”i@ A(B2) - 32 )O j(”}" gu'} 3 (-1

The given coordinates are on f(x), find the coordinates for 7' (x)

2. (4,7)
(74)
3. (0,11)
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4. (-3,-8)
33)
5. (10,10)

Find the algebraic inverse.

7. f(x)=15x-1

At

(=15x~ 5 Y
X.:L?y\(
X+ =15y

8. f(x)= —l-x +7

Y:~%Xf7 §%§@tf>ty

X:?Y+i///

X-T-37

9. flx)=-5x-11 KU BN
VB =
X = -5y~

xil=-5y

Name:
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10. f(‘c) <x~2)22
f= ()
X = (/-2
ix zy-2
X +1=y
11, flx)=x-4

N k-4
\wwlrll
X= vY¥-4
= i-Y
X T
Graph the function and its inverse of the given function.

12.

Function

Points

(_2/"4)

(0,1)

(2,6)

Inverse

Points

4,-7)
@7 (62)

Name:
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13.

Name:

Function Points

“4,2)

(2,-2) N

("11“5)

('3/ _7)

Inverse Points

(2141 e

(-42)

(=5,-1)

("’75 “3)

14. a. Does the graph pictured represent a function? Explain.

Yeseguh X ~Vaw Cf(h?ﬁ)hk)épy hne

b. Is the graph invertible? Explain.

put put Thpasses the verhical
smg#@ﬁl

- Huls the honzendal lne fest

L&

(hyvalve has mope +than ore X- alue
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Station 2: Rational Functions

For each of the rational functions find: a. holes  b. vertical asymptotes c. horizontal asymptotes

d. zeros
O " L) 2 \ 2
! f()-——_——_—? - ”’f\i“) 2 f()i1 - X
(RN V- 1)

e A=A zero K2 hole © @om nine Ze(d” X2 O

o KES VA X=X

" TRREPA
’ f(x):vfl

hole nane

0 “.n’\‘;!\ ZW{D:M&(

tA - Yeo

s fx)=2" 5 .fmz:‘f_f:‘f:_‘% - G(”“f) £3)

'xﬁ RMQ [o - i
hile ze- K= hole. x=2
:A’ ffi VaLg=3 200t Koo
A YE WA= y=|
14

W' e 2 ero X=X KA
VA~ X=-3
HA e
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Rty ) o px) i (xt_‘g)wﬂ)

.

X+l oy k -1 —
iﬂgﬁiﬁf f\bie }/\%lfi - fdne
VA X=-f VAT K=
HA- noae {142 none

Zew K=o A= e K =2, X~

Re. gme X - ! hole - x-3

VAL K=" none | . Zen X =3

A~ Y=o | VA. A~

Simplify each expression. HA Y:/

Lomts _ KSUsSy o bl 26. 221~ bx(5¢-3) (Lbz)x
3 3~ ““""“““""3 % 4x X 6 [(L e é
Same &3{0 <’() X (%) X
derdmindioc 2

I T RL I AL W

x
- X -] e *“*:7-"‘“5:”"

B

by A &X,
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Station 3: Composite Functions and Others
1. let £ be the function that assigns to a temperature given in degrees Fahrenheit its equivalent in

degrees Celsius, and let K be the function that assigns to a temperature given in degrees Celsius its
equivalent in degrees Kelvin.

We have C(x) = g(x —32)and K(x) = x + 273.
a.  Write an expression for K(C(x)) and interpret its meaning in terms of temperatures.
K(Ee2)= 2 (x-32)4273
a X I o Ny y P v N
o ¢ (g f(x) | ] his "‘{:m(ﬁ(t@"é coeits f i/)‘fo
F—= L 1=k Lelvin.

b.  The following shows the graph of y = C(x).

¢ ’Z(@Q) 2212

According to the graph, what is the value of C~1(100)?

¥

=

7 (32,0)

c.  What does C~1(100) mean in the context of this situation?

& A‘i&ﬂ?{f{ﬁ;{-\)f&@{‘ Q%}GQL@: a:tv;‘vaféf%%{o ;‘U}“F

d. Whatdoes K71(273) meanin¥the context of this situation? .
ki K A i&;&?midéa of 273 Kelim will
(—k KT el ndo
(—=k KIC be converfed o °C.






